EARAROBREBRT —5 XN—ZXBISH—F

2024518208 (£) 1E94LI6H

¥ == 28052 USR4ELE (BE) UEE) &8 R IEEEE
[AE%] 1 & :15,500,000 @ 2 3#&:6,200,000  ~ 3 3#&:3,900,000 9 4 3% :2,300,000 5 3% :1,550,000
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
.~ o)~ C. Jux—Jb : -5-6- St EST (SEH)
1l5l5|vvFsL—vay i 5 S 1.(4_7).3 5-5-6-4 | 34.8101.0| 1 (4_822) pLem
R:O—RHFO7 B:T7VR—KIAT J=HUTr—1
N (S 5 | BFEHER 1:47.4 3-3-3-4 [35.1/100.0| 4 | 552 |@AE ()
] 4 TSRS a5 E;EB.O (172) ) '_EHE)EE « X—)b
RiROSAYFT B:ISVUIPILA E/N e
-5 it 5 | PIEEX 1:47.5 3-3-3-3 [35.3]99.0 | 2 520 | A (R)
37| 8| ¥ARIL=ZOAS A g 58.0 (3/4) ) | W FSTLYRIST - S5T47
RIFVTARXRNXIN B:TSAVT AUy EvIUy RI7—LA
= N v 6| R. FYJ23 1:47.7 9-9-9-7 |34.8| 9%.8 | 8 528 | BEBIEER (5/)
4|8[10F7T2EYE 8.0 1 1/ e |BEES
RiRSXAVF B:o4—r74J'bOA LENEKE
NITS BLRE 148. -1-1- . . ik (R
511l vnr i 5 s 1{125)1 1-1-1-1 | 36.0| 93.0 | 6 (:1;2) e
RIRSAYT BAXHZAEUY - #HE77—LA
TS ~ pE=7 Sl 5 9 AEE 3
68l 9|75V RAUFY [B] B4 5%7_%)3?? 1(.14/82.)2 5-6-2-2 |36.1| 92.1| 3 (4:53 Eﬂﬁ%g €S5)
RWFIWAVNT N BHYI—FT 475 ETERS
S “ 6 | EIEFARM 1:48.2 2-2-3-4 [35.9]92.0 | 9 84 | BEB— EH)
71717 | ABLYatY b e 56.0 ) (+14) W G1L-vvo
RIN=VISA §:T4r—IYUR J=HUT7—L
= KEFHRR : -8-7- THR GEH)
8 6| ®SI—IL 4 5 2 (17.498.72) 7-8-7-7 |35.5|91.8 | 5 21342) : #éﬁa
RiIAYYTSwya B:EYarU— B
— 3 6 | R. E—kal 1:48.3 9-9-9-7 |35.4| 9.7 | 7 422 | ERESE (EH)
9 ) [ NvS/—=T7 * 56.0 Z¥) © BRAHYLD
RIIET7RAT B:RySLI—F /=Y ITr—1L
N > 7 | semxa : P HEER (R
1Bl 3 | #FN—T—v7o 'Y 7| EE 1.(489).6 7-6-7-7 |37.0| 79.2 | 10 (4_325; el
RiT4IRDT—VEY B IN—Yv A=V thEH
[ BN
Eh' 47.0-35.2
NOVS AL | 12.8-12.5-12.0-11.8-11.2-11.8-12.0-11.5-11.7
@ I1—JF—BEBIEfI
13—7+— (*1,7) (4,8) (5,9) (3,6) (2,10)
20—F— (*1,7) (4,8)5(3,9)6(2,10)
30—7F— (*1,9) (4,7,8)5(3,6) (2,10)
43—F— (1,9)8(4,7,5) (3,2,6,10)
o ILRE
B 5 200 | [ DA K 4-5 240 AR 4-5 590M 3EE 4-5-8 730
B B 5 110M4 5-8 220 /B E 4-5 570 3EE 5-4-8 2,550
4 140 4-8 3404 o= 5-4 810
8 1409

ABIC OV TRUTEREERRODDZE. THRIIZEL.




